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Abstract: We present a case report of a 41-year-old man with an acute headache and hydrocephalus caused
by the dermoid cyst. The dermoid cyst of the third brain ventricle caused an acute hydrocephalus and an
increased intracranial pressure (with neurological signs such as nausea, vomiting, oedema papilae n. optici)
and, consequently, an acute intensive headache. Computed tomography scans demonstrated a mass in the
third ventricle extending into the prepontine cistern, whereas any initially established cerebrospinal fluid ventriculo-
peritoneal shunt required further revision (Fig. 2, Ref. 12). Full Text (Free, PDF) www.bmj.sk.
Key words: headache, hydrocephalus, intracranial pressure, dermoid cyst, CT, acute headache.
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Titlic M et al. An acute headache and hydrocephalus caused by the dermoid…
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